

SYSTEM THEORY, CONTROL AND COMPUTING JOURNAL

Vol. 1, No. 2, December 2021

ISSN 2668-2966



CONTACT SYSTEM THEORY, CONTROL AND COMPUTING JOURNAL University of Craiova, No. 13, A.I. Cuza Street, Craiova, 200585, Dolj, Romania Phone: 0251 438 198 Email: stcc.journal@ucv.ro Website: http://stccj.ucv.ro/

© 2021 – All rights reserved to Universitaria Publishing House The authors assume all responsibility for the ideas expressed in the materials published.

ISSN: 2810–4099 ISSN–L: 2668–2966

Editorial Team Editors and Publisher

Editors

Faculty of Automation, Computers and Electronics of The University of Craiova, Romania Faculty of Automation and Computers of The Politehnica University of Timişoara, Romania Faculty of Control Systems, Computers, Electrical and Electronics Engineering of The "Dunărea de Jos" University of Galați, Romania Faculty of Automatic Control and Computer Engineering of The "Gheorghe Asachi" Technical University of Iași, Romania

Publisher

Editura Universitaria, Str. A.I. Cuza, 13, 200585 Craiova, Romania <u>https://www.editurauniversitaria.ro/ro</u>

Editorial Board

Editor-in-Chief Vladimir RĂSVAN Prof., PhD University of Craiova, Faculty of Automation, Computers and Electronics, Str. A.I. Cuza 13, 200585 Craiova, Romania

Associate Editors-in-Chief

Radu-Emil PRECUP Corresponding member of The Romanian Academy Prof., PhD Politehnica University of Timisoara, Department of Automation and Applied Informatics, Bd. Vasile Pârvan 2, 300223 Timișoara, Romania Vasile MANTA Prof., PhD "Gheorghe Asachi" Technical University of Iași, Faculty of Automatic Control and Computer Engineering, Bd. Prof. dr. doc. Dimitrie Mangeron 27, 700050 Iasi, Romania Marian BARBU Prof., PhD "Dunărea de Jos" University of Galati, Faculty of Control Systems, Computers, Electrical and Electronics Engineering Str. Științei 2, 800210 Galați, Romania Dan SELIŞTEANU Prof., PhD University of Craiova, Faculty of Automation, Computers and Electronics, Str. A.I. Cuza 13, 200585 Craiova, Romania

Field Editors

Andrzej BARTOSZEWICZ, Technical University of Lodz, Poland Vincent CHARVILLAT, University of Toulouse, IRIT-ENSEEIHT, France Voicu GROZA, University of Ottawa, Canada László T. KÓCZY, Széchenyi István University, Győr, and Budapest University of Technology, Hungary Viorel MINZU, "Dunărea de Jos" University of Galați, Romania Silviu-Iulian NICULESCU, Paris-Saclay University, France Stefan PREITL, Politehnica University of Timișoara, Romania Octavian PĂSTRĂVANU, "Gheorghe Asachi" Technical University of Iași, Romania Imre J. RUDAS, Óbuda University, Budapest, Hungary, Ramon VILANOVA, Universitat Autonoma de Barcelona, Spain Mihail VOICU, "Gheorghe Asachi" Technical University of Iași, Romania

Associate Editors

Dorel AIORDĂCHIOAIE, "Dunărea de Jos" University of Galați, Romania Costin BĂDICĂ, University of Craiova, Romania Gildas BESANCON, Grenoble Institute of Technology, France Sašo BLAŽIC, University of Ljubljana, Slovenia Eugen BOBASU, University of Craiova, Romania Antoneta Iuliana BRATCU, Grenoble Institute of Technology, France Marius BREZOVAN, University of Craiova, Romania Keith J. BURNHAM, University of Wolverhampton, UK David CAMACHO, Autonomous University of Madrid, Spain Sergiu CARAMAN, "Dunărea de Jos" University of Galați, Romania Oscar CASTILLO, Tijuana Institute of Technology, Mexico Petru CAȘCAVAL, "Gheorghe Asachi" Technical University of Iași, Romania Arben CELA, Paris-Est University, ESIEE Paris, France Daniela CERNEGA, "Dunărea de Jos" University of Galați, Romania Dorian COJOCARU, University of Craiova, Romania Antonio DOURADO, University of Coimbra, Portugal Ioan DUMITRACHE, University Politehnica of Bucharest, Romania Luminita DUMITRIU, "Dunărea de Jos" University of Galați, Romania Stefka FIDANOVA, Bulgarian Academy of Sciences, Bulgaria Florin-Gheorghe FILIP, Romanian Academy, Romania Adrian FILIPESCU, "Dunărea de Jos" University of Galați, Romania Adina Magda FLOREA, University Politehnica of Bucharest, Romania Giancarlo FORTINO, University of Calabria, Italy Radu GROSU, Vienna University of Technology, Austria Martin GUAY, Queen's University, Canada Kevin GUELTON, Université de Reims Champagne-Ardenne, France Rodolfo HABER GUERRA, Center for Automation and Robotics (CSIC-UPM), Spain Adel HAGHANI, University of Rostock, Germany Jacob HAMMER, University of Florida, USA Zoltán HORVÁTH, Eötvös Loránd University, Hungary Zhongsheng HOU, Qingdao University, China Daniela IACOVIELLO, Sapienza University of Rome, Italy Przemyslaw IGNACIUK, Technical University of Lodz, Poland Mirjana IVANOVIĆ, University of Novi Sad, Serbia Zsolt Csaba JOHANYÁK, John von Neumann University, Hungary Alireza KARIMI, Swiss Federal Institute of Technology Lausanne, Switzerland Marius KLOETZER, "Gheorghe Asachi" Technical University of Iași, Romania Petia KOPRINKOVA-HRISTOVA, Bulgarian Academy of Sciences, Bulgaria Péter KORONDI, Budapest University of Technology and Economics, Hungary Levente KOVÁCS, Óbuda University, Budapest, Hungary Michal KVASNICA, Slovak University of Technology in Bratislava, Slovakia Hak-Keung LAM, King's College London, UK Ioan-Doré LANDAU, Grenoble Institute of Technology, France Corneliu LAZĂR, "Gheorghe Asachi" Technical University of Iași, Romania Mircea LAZÅR, Eindhoven University of Technology, Netherlands Yann LE GORREC, École Nationale Supérieure de Mécanique et des Microtechniques, France Jesús de LEÓN MORALES, Autonomous University of Nuevo León, Mexico Cristian MAHULEA, University of Zaragoza, Spain Mihaela MATCOVSCHI, "Gheorghe Asachi" Technical University of Iași, Romania Patricia MELIN, Tijuana Institute of Technology, Mexico Mihai MICEA, Politehnica University of Timisoara, Romania Liviu MICLEA, Technical University of Cluj-Napoca, Romania Sabine MONDIÉ, CINVESTAV-IPN, Mexico Ion NECOARA, University Politehnica of Bucharest, Romania Sergiu NEDEVSCHI, Technical University of Cluj-Napoca, Romania Sorin OLARU, Paris-Saclay University, France Hitay ÖZBAY, Bilkent University, Turkey Marcin PAPRZYCKI, Systems Research Institute, Polish Academy of Sciences, Poland Nicolae PARASCHIV, Petroleum-Gas University of Ploiești, Romania Lăcră PAVEL, University of Toronto, Canada

Tamara PETROVIĆ, University of Zagreb, Croatia Stefan Wolfgang PICKL, Bundeswehr University Munich, Germany Marios M. POLYCARPOU, University of Cyprus, Cyprus Dan POPESCU, University of Craiova, Romania Dumitru POPESCU, University Politehnica of Bucharest, Romania Elvira POPESCU, University of Craiova, Romania Vicenc PUIG, Polytechnic University of Catalonia, Spain Werner PURGATHOFER, Vienna University of Technology, Austria Xiaobo QU, Chalmers University of Technology, Sweden Antonio E. B. RUANO, University of Algarve, Portugal Sergio Matteo SAVARESI, Polytechnic University of Milan, Italy Olivier SENAME, Grenoble Institute of Technology, France Vasile SIMA, National Institute for Research & Development in Informatics, Romania Xiaona SONG, Henan University of Science and Technology, China James C. SPALL, Johns Hopkins University, USA Liana STĂNESCU, University of Craiova, Romania Dorin SENDRESCU, University of Craiova, Romania Michael ŠEBEK, Czech Technical University in Prague, Czech Republic Igor ŠKRJANC, University of Ljubljana, Slovenia Shigemasa TAKAI, Osaka University, Japan Sihem TEBBANI, Paris-Saclay University, France Gianluca TEMPESTI, University of York, UK Mariana TITICA, University of Nantes, France Alain VANDE WOUWER, University of Mons, Belgium Antonis VARDULAKIS, Aristotle University of Thessaloniki, Greece Honoriu VALEAN, Technical University of Cluj-Napoca, Romania Pastora VEGA, University of Salamanca, Spain Ramon VILANOVA, Autonomous University of Barcelona, Spain Alina VODĂ, Grenoble Institute of Technology, France Draguna VRABIE, Pacific Northwest National Laboratory, USA Damir VRANČIĆ, Jožef Stefan Institute, Slovenia Shen YIN, Harbin Institute of Technology, China

Executive Associate Editors

Lucian BÅRBULESCU, PhD University of Craiova, Faculty of Automation, Computers and Electronics, Str. A.I. Cuza 13, 200585, Craiova, Romania

Adrian BURLACU, PhD "Gheorghe Asachi" Technical University of Iasi, Faculty of Automatic Control and Computer Engineering Str. Prof. dr. doc. Dimitrie Mangeron, nr. 27, 700050, Iași, Romania

Marius MARIAN, PhD University of Craiova, Faculty of Automation, Computers and Electronics, Str. A.I. Cuza 13, 200585, Craiova, Romania

Raul-Cristian ROMAN, PhD Politehnica University of Timișoara, Department of Automation and Applied Informatics, Bd. Vasile Pârvan 2, 300223, Timișoara, Romania

Răzvan ȘOLEA, PhD "Dunărea de Jos" University of Galați, Faculty of Control Systems, Computers, Electrical and Electronics Engineering, Str. Științei 2, 800210, Galați, Romania

Conservation Laws - a Source for Distortionless Propagation and Time Delays

Vladimir Răsvan

Department of Automatic Control and Electronics University of Craiova, Craiova Romania and Romanian Academy of Engineering Sciences ASTR

ORCID 0000-0002-4569-9543

Abstract—Since the very first paper of J. Bernoulli in 1728, a connection exists between initial boundary value problems for hyperbolic Partial Differential Equations (PDE) in the plane (with a single space coordinate accounting for wave propagation) and some associated Functional Equations (FE). From the point of view of dynamics and control (to be specific, of dynamics *for* control) both type of equations generate dynamical and controlled dynamical systems. The functional equations may be difference equations (in continuous time), delay-differential (mostly of neutral type) or even integral/integro-differential. It is possible to discuss dynamics and control either for PDE or FE since both may be viewed as self contained mathematical objects.

A more recent topic is control of systems displaying conservation laws. Conservation laws are described by *nonlinear* hyperbolic PDE belonging to the class "lossless" (conservative); their dynamics and control theory is well served by the associated energy integral. It is however not without interest to discuss association of some FE. Lossless implies usually distortionless propagation hence one would expect here also lumped time delays.

The paper contains some illustrating applications from various fields: nuclear reactors with circulating fuel, canal flows control, overhead crane, drilling devices, without forgetting the standard classical example of the nonhomogeneous transmission lines for distortionless and lossless propagation. Specific features of the control models are discussed in connection with the control approach wherever it applies.

Index Terms—conservation laws, distortionless propagation, time delays

I. INTRODUCTION AND BASICS

We shall start from two elementary facts. First, any electrical or control engineer has dealt with mathematical models where either a complex domain term like $e^{-\tau s}$ with $\tau > 0$, $s \in \mathbb{C}$, or a time domain term like $u(t - \tau)$, where u was some signal, were present. Such models were called *time delay* or *time lag systems*. A more involved interest to such systems would inevitably have sent to some reference about the underlying equations of these models - the *equations with deviating argument*. A still more involved interest would have sent to the question concerning origins of these equations; interesting enough, the first differential equation with deviating argument, reported in [1], was published by Johann (Jean) Bernoulli in 1728 [2] and reads as

$$y'(t) = y(t-1)$$
 (1)

As the title of this paper shows, this equation appears to be associated to a partial differential equation of hyperbolic type - the string equation. Even if the association seems to be mistaken in this paper, it sends nevertheless to the second elementary fact, less known, that propagation is associated to time delay. In order to explain this, we shall discuss a special case of propagation - the lossless propagation.By lossless propagation it is understood the phenomenon associated with long (in a definite sense) transmission lines for physical signals. In electrical and electronic engineering there are considered in various applications circuit structures consisting of multipoles connected through LC transmission lines (With respect to this a long list of references may be provided, starting with a pioneering paper of [3] and going up to a quite recent book of [4]). The lossless propagation occurs also for non-electric signals as water, steam or gas flows and pressures. With respect to this we may cite the pioneering (but almost forgotten) papers of [5], [6] on steam pipes for combined heat-electricity generation, the long list of papers dealing with waterhammer and many other. In order to illustrate these assertions, we shall consider one of the early benchmark problems, the nonlinear circuit containing a tunnel diode and a lossless transmission the so called Nagumo-Shimura circuit (fig.1)



Fig. 1. Oscillator (Nagumo - Shimura circuit)

This circuit is described by the equations

Cite as: V. Rasvan, "Conservation Laws -- a Source for Distortionless Propagation and Time Delays", *Syst. Theor. Control Comput. J.*, vol. 1, no. 2, pp. 1–11, Dec. 2021. DOI: 10.52846/stccj.2021.1.2.12

$$L_{s}\frac{\partial i}{\partial t} = -\frac{\partial v}{\partial \lambda} , \ C_{s}\frac{\partial v}{\partial t} = -\frac{\partial i}{\partial \lambda}, \ 0 \le \lambda \le 1$$
$$E = v(0,t) + R_{0}i(0,t)$$
(2)
$$-C\frac{\mathrm{d}}{\mathrm{d}t} v(1,t) = -i(1,t) + \psi(v(1,t))$$

Proceeding in "an engineering way" we may apply formally the Laplace transform to compute the solution of the boundary value problem viewed as independent of the differential equation but being nevertheless controlled by it. After some elementary but tedious formal manipulation we find the following time dependencies

$$v(t) + \sqrt{L/C}i(1,t) - \rho_0 v(t - 2\sqrt{LC}) + \sqrt{L/C}i(1,t - 2\sqrt{LC})) = (1 + \rho_0)E(t - \sqrt{LC})$$

$$C_0 \frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = i(1,t)$$

$$\rho_0 = (1 - R_0\sqrt{C/L})(1 + R_0\sqrt{C/L})^{-1}$$
(3)

which is a differential equation coupled with a difference equation in continuous time. A similar approach of applying formally the Laplace transform and deducing a characteristic equation accounting for time delays (deviating arguments was used in the pioneering papers [5]–[7] dealing with steam pipes; for water pipes a pioneering paper is [8] where the same approach is applied.

It is useful to continue the investigation of the above benchmark system by observing that the aggregate

$$v(t) + \sqrt{L/C}i(1,t) \equiv u(1,t) + \sqrt{L/C}i(1,t)$$

represents the so called progressive (forward) wave of the system at the boundary $\lambda = 1$. Since both the voltage $u(\lambda, t)$ and the current $i(\lambda, t)$ are linear combinations of the progressive (forward) and reflected (backward) waves as follows

$$u(\lambda, t) = \frac{1}{2} [u_1(\lambda, t) + u_2(\lambda, t)]$$

$$i(\lambda, t) = \frac{1}{2} \sqrt{C/L} [u_1(\lambda, t) - u_2(\lambda, t)]$$
(4)

it is useful to express (2) in terms of these waves

$$\begin{aligned} \frac{\partial u_1}{\partial t} &+ \frac{1}{\sqrt{LC}} \frac{\partial u_1}{\partial \lambda} = 0 , \ \frac{\partial u_2}{\partial t} - \frac{1}{\sqrt{LC}} \frac{\partial u_2}{\partial \lambda} = 0 \\ (1 + R_0 \sqrt{C/L}) u_1(0, t) + (1 - R_0 \sqrt{C/L}) u_2(0, t) = \\ &= 2E(t) \ ; \ u_1(1, t) + u_2(1, t) = 2v(t) \\ C_0 \frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) &= \frac{1}{2} \sqrt{C/L} [u_1(\lambda, t) - u_2(\lambda, t)] \end{aligned}$$
(5)

It is obvious that the propagation (partial differential) equations of the two waves are decoupled; the two waves

are exactly the Riemann invariants of the problem. We may consider now the standard version of the d'Alembert method i.e. of integrating along the two families of characteristics

$$\frac{\mathrm{d}t}{\mathrm{d}\lambda} = \pm \sqrt{LC} \tag{6}$$

Worth mentioning that there is a family of increasing characteristics and one of decreasing; as (5) shows, the forward wave should be considered along the increasing characteristics while the backward wave along the decreasing ones. If we perform this integration we shall find

$$u_1(0,t) = u_1(1,t + \sqrt{LC}) , \ u_2(1,t) = u_2(0,t + \sqrt{LC})$$
(7)

By denoting

$$\eta_1(t) = u_1(1,t) , \ \eta_2(t) = u_1(1,t)$$
 (8)

we associate to (2) the following system of equations with delayed argument

$$C_{0}\frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = \frac{1}{2}\sqrt{\frac{C}{L}}(\eta_{1}(t) - \eta_{2}(t - \sqrt{LC}))$$

$$\eta_{2}(t) = -\rho_{0}\eta_{1}(t - \sqrt{LC}) + (1 + \rho_{0})E(t)$$

$$\eta_{1}(t) = -\eta_{2}(t - \sqrt{LC}) + 2v(t)$$
(9)

which is exactly (3) but associated in a rigorous way, starting from the solutions of (2); even the initial conditions may be associated in this way. Moreover, the converse association is also possible. Using the representation formulae for the two waves

$$u_1(\lambda, t) = \eta_1(t + (1 - \lambda)\sqrt{LC})$$

$$u_2(\lambda, t) = \eta_2(t + \lambda\sqrt{LC})$$
(10)

we may construct the solutions of (2) starting from the solutions of (9).

To end this introductory discussion we just mention that (7) and (10) define what is usually known as *lossless propagation*. Since the two waves propagate from one boundary to the other in finite time $\tau = \sqrt{LC}$ but without changing their waveform (just with a pure - lumped - time delay) this propagation is also distortionless. In the following we shall discuss both these aspects.

II. LOSSLESS AND DISTORTIONLESS PROPAGATION

A. We shall consider again the Nagumo-Shimura circuit but with a lossy transmission line

$$\frac{\partial u}{\partial \lambda} + L \frac{\partial i}{\partial t} + Ri = 0 , \ \frac{\partial i}{\partial \lambda} + C \frac{\partial u}{\partial t} + Gu = 0$$

$$R_0 i(0, t) + u(0, t) = E(t) , \ u_1(t) = v(t)$$

$$C_0 \frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = i(1, t)$$
(11)

Introducing the forward and backward waves as previously i.e. using (4) we find

$$\frac{\partial u_1}{\partial t} + \frac{1}{\sqrt{LC}} \frac{\partial u_1}{\partial \lambda} + \frac{1}{2} (R/L + G/C) u_1 + \frac{1}{2} (R/L - G/C) u_2 = 0$$
$$\frac{\partial u_2}{\partial t} - \frac{1}{\sqrt{LC}} \frac{\partial u_2}{\partial \lambda} - \frac{1}{2} (R/L - G/C) u_1 + \frac{1}{2} (R/L + G/C) u_2 = 0$$
(12)

$$(1 + R_0 \sqrt{C/L}) u_1(0, t) + \\ + (1 - R_0 \sqrt{C/L}) u_2(0, t) = 2E(t) \\ u_1(1, t) + u_2(1, t) = 2v(t) \\ C_0 \frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = \frac{1}{2} \sqrt{\frac{C}{L}} [u_1(\lambda, t) - u_2(\lambda, t)]$$

These equations are no longer decoupled unless the "matching" condition of Heaviside is met i.e. RC = LG which "destroys" the coupling terms

$$\frac{\partial u_1}{\partial t} + \frac{1}{\sqrt{LC}} \frac{\partial u_1}{\partial \lambda} + (R/L)u_1 = 0$$

$$\frac{\partial u_2}{\partial t} - \frac{1}{\sqrt{LC}} \frac{\partial u_2}{\partial \lambda} + (R/L)u_2 = 0$$
(13)

We introduce the new "waves"

$$u_1(\lambda, t) = e^{-\delta\lambda} w_1(\lambda, t) , \ u_2(\lambda, t) = e^{\delta\lambda} w_2(\lambda, t)$$

$$\delta = R\sqrt{C/L}$$
(14)

to obtain a lossless-like system

$$\frac{\partial w_1}{\partial t} + \frac{1}{\sqrt{LC}} \frac{\partial w_1}{\partial \lambda} = 0, \quad \frac{\partial w_2}{\partial t} - \frac{1}{\sqrt{LC}} \frac{\partial w_2}{\partial \lambda} = 0$$

$$(1 + R_0 \sqrt{C/L}) w_1(0, t) + (1 - R_0 \sqrt{C/L}) w_2(0, t) =$$

$$= 2E(t); \quad e^{-\delta} w_1(1, t) + e^{\delta} w_2(1, t) = 2v(t)$$

$$C_0 \frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = \frac{1}{2} \sqrt{\frac{C}{L}} [e^{-\delta} w_1(1, t) - e^{\delta} w_2(1, t)]$$
(15)

Denoting now

$$\eta_1(t) = w_1(1,t) , \ \eta_2(t) = w_2(0,t)$$
 (16)

we associate to (15) the system

$$C_{0}\frac{\mathrm{d}v}{\mathrm{d}t} + \psi(v) = \frac{1}{2}\sqrt{\frac{C}{L}}[\mathrm{e}^{-\delta}\eta_{1}(t) - \mathrm{e}^{\delta}\eta_{2}(t - \sqrt{LC})]$$

$$\eta_{2}(t) = -\rho_{0}\eta_{1}(t - \sqrt{LC}) + (1 + \rho_{0})E(t)$$

$$\eta_{1}(t) = -\mathrm{e}^{-2\delta}\eta_{2}(t - \sqrt{LC}) + 2\mathrm{e}^{-\delta}v(t)$$

(17)

and an additional damping is introduced in the second difference equation. Adapting (10) to the new case, we have

$$u_1(\lambda, t) = e^{-\delta\lambda} \eta_1(t + (1 - \lambda)\sqrt{LC})$$

$$u_2(\lambda, t) = e^{\delta\lambda} \eta_2(t + \lambda\sqrt{LC})$$
(18)

and it is easily seen that the progressive wave propagates forwards from $\lambda = 0$ to $\lambda = 1$ being retarded and damped along the propagation while the reflected wave propagates backwards from $\lambda = 1$ to $\lambda = 0$ being also retarded and damped. Since the basic waveforms $\eta_i(\cdot)$ are not modified but just retarded during propagation, the propagation is also distortionless.

B. The natural development of the distortionless propagation is to consider the so called inhomogeneous media and transmission lines. The theory of the waveguides is their most straightforward application. The mathematical model of the inhomogeneous transmission line is given by the space varying telegraph equations [9]

$$-\frac{\partial v}{\partial \lambda} = r(\lambda)i(\lambda,t) + l(\lambda)\frac{\partial i}{\partial t}$$

$$-\frac{\partial i}{\partial \lambda} = g(\lambda)v(\lambda,t) + c(\lambda)\frac{\partial v}{\partial t}$$
(19)

with the standard notations, the line having length L. Here $l(\lambda) > 0$, $c(\lambda) > 0$ for standard physical reasons. The distortionless definition (*op. cit.*) states that

$$v(\lambda, t) = f(\lambda)\phi(t - \tau(\lambda))$$
(20)

where $f(\cdot)$ is called *attenuation* and $\tau(\cdot)$ is called *propagation delay* while $\phi(\cdot)$ is the waveform. Two are here the remarks to be made: i) only the progressive wave is considered i.e. $\tau(\lambda) > 0$; ii) only the voltage wave is concerned in this basic definition (*op. cit.*). The first aspect means the absence of the reflected wave; consequently the line is closed on an impedance Z(L) that equals the characteristic impedance of the line. Mathematically speaking, this is a boundary condition at $\lambda = L$. There exist also other cases of interest, for instance the time independent voltage/curent ratio i.e. when $v(\lambda, t)$ is given by (20) and

$$i(\lambda, t) = h(\lambda)\phi(t - \tau(\lambda))$$
(21)

i.e. when the line is resistive. Our approach includes these cases in the general setting of the distortionless propagation. Since (19) are exactly like (11), we introduce the Riemann invariants by

$$u^{\pm}(\lambda, t) = v(\lambda, t) \pm a(\lambda)i(\lambda, t)$$
(22)

or by the converse equalities

$$v(\lambda,t) = \frac{1}{2} [u^+(\lambda,t) + u^-(\lambda,t)]$$

$$i(\lambda,t) = \frac{1}{2a(\lambda)} [u^+(\lambda,t) - u^-(\lambda,t)]$$
(23)

With the choice $a(\lambda) = \sqrt{l(\lambda)/c(\lambda)}$ which is similar to (14) the cross derivative terms are "destroyed" and the following equations are obtained

$$-\frac{\partial u^{+}}{\partial \lambda} = \sqrt{l(\lambda)c(\lambda)} \frac{\partial u^{+}}{\partial t} + \frac{1}{2} \left(a(\lambda)g(\lambda) + \frac{r(\lambda) - a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) + \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) - a'(\lambda)}{a(\lambda)} \right) u^{-}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\sqrt{l(\lambda)c(\lambda)} \frac{\partial u^{-}}{\partial t} - \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{\partial u^{-}}{\partial \lambda} = -\frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) - \frac{1}{2} \left(a(\lambda)g(\lambda) - \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^{+}(\lambda, t) -$$

$$- \ \frac{1}{2} \left(a(\lambda)g(\lambda) + \frac{r(\lambda) + a'(\lambda)}{a(\lambda)} \right) u^-(\lambda,t)$$

It is now rather obvious that the off-diagonal terms cannot be canceled by the same choice of the line coefficients. This explains the option in [9] for the distortionless propagation forwards: such choice requires decoupling of the equation of $u_1(\lambda, t)$ in (24). Therefore

$$a'(\lambda) = r(\lambda) - g(\lambda)a^2(\lambda)$$
(25)

which is a condition on line's parameters. Remark that *this is a Riccati differential equation*. Consequently the equations of the waves become

$$-\frac{\partial u^{+}}{\partial \lambda} = \sqrt{l(\lambda)c(\lambda)}\frac{\partial u^{+}}{\partial t} + a(\lambda)g(\lambda)u^{+}(\lambda,t)$$
$$-\frac{\partial u^{-}}{\partial \lambda} = -\sqrt{l(\lambda)c(\lambda)}\frac{\partial u^{-}}{\partial t} - \frac{r(\lambda)}{a(\lambda)}u^{-}(\lambda,t) + (26)$$
$$+(r(\lambda)/a(\lambda) - g(\lambda)a(\lambda))u^{+}(\lambda,t)$$

Having in mind (14) we introduce the new "waves" by

$$u^{+}(\lambda, t) = \exp\left(-\int_{0}^{\lambda} g(\sigma)a(\sigma)d\sigma\right)w^{+}(\lambda, t)$$
$$u^{-}(\lambda, t) = \exp\left(-\int_{\lambda}^{1} (r(\sigma)/a(\sigma)d\sigma\right)w^{-}(\lambda, t)$$

to obtain

$$-\frac{\partial w^{+}}{\partial \lambda} = \sqrt{l(\lambda)c(\lambda)}\frac{\partial w^{+}}{\partial t}$$

$$-\frac{\partial w^{-}}{\partial \lambda} = -\sqrt{l(\lambda)c(\lambda)}\frac{\partial w^{-}}{\partial t} - \beta(\lambda)w^{+}(\lambda,t)$$
(27)

where

$$\beta(\lambda) = (-r(\lambda)/a(\lambda) + g(\lambda)a(\lambda)) \times \\ \times \exp\left(-\int_0^\lambda g(\sigma)a(\sigma)d\sigma + \int_\lambda^1 (r(\sigma)/a(\sigma)d\sigma\right)^{(28)}$$

We perform now integration along the characteristics to find

$$w^{+}(0,t) = w^{+}(L,t+\tau)$$
(29)

Denoting $\eta^+(t) = w^+(L,t)$ the following representation) formula is obtained

$$w^{+}(\lambda, t) = \eta^{+} \left(t + \int_{\lambda}^{L} \sqrt{l(\mu)c(\mu)} d\mu \right)$$
(30)

obviously accounting for distortionless propagation of the forward wave. For the backward wave we obtain, by integrating along the decreasing characteristics but taking also into account (30)

$$w^{-}(L,t) = w^{-}(0,t+\tau) +$$

$$+ \int_{0}^{L} \beta(\sigma)\eta^{+} \left(t + 2\int_{\sigma}^{L} \sqrt{l(\mu)c(\mu)} d\mu\right) d\sigma$$
(31)

Denoting $\eta^-(t)=w^-(0,t+\tau)$ the following representation formula is obtained

$$w^{-}(\lambda, t) = \eta^{-} \left(t + \int_{0}^{\lambda} \sqrt{l(\mu)c(\mu)} d\mu \right) + \int_{0}^{\lambda} \beta(\sigma) \eta^{+} \left(t + \int_{\sigma}^{\lambda} \sqrt{l(\mu)c(\mu)} d\mu + \int_{\sigma}^{L} \sqrt{l(\mu)c(\mu)} d\mu \right) d\sigma$$
(32)

and the propagation is clearly associated with the distortions introduced by the integral term. To obtain distortionless of the backward wave, it is necessary to have $\beta(\sigma) = 0$ a.e. that is $a(\lambda)g(\lambda) = r(\lambda)/a(\lambda)$ If $a(\lambda)$ is replaced by its expression i.e. $a(\lambda) = \sqrt{l(\lambda)/c(\lambda)}$ we obtain

$$g(\lambda)\sqrt{l(\lambda)/c(\lambda)} = r(\lambda)\sqrt{c(\lambda)/l(\lambda)}$$

$$(33)$$

$$g(\lambda)l(\lambda) = r(\lambda)c(\lambda)$$

which is exactly the Heaviside condition. However this condition is valid only for those $a(\lambda)$ satisfying (25). This gives $a'(\lambda) = 0$ hence the ratio $l(\lambda)/c(\lambda)$ has to be piecewise constant on (0, L). Not only constant coefficients can ensure distortionless propagation for both forward and backward waves!

III. THE MULTI-WAVE CASE. APPLICATION TO THE CIRCULATING FUEL NUCLEAR REACTORS

When several transmission lines (channels) are included in the system, several couples of waves are present, leading to the model of e.g. [10]

$$\frac{\partial u}{\partial t} + A(\lambda)\frac{\partial u}{\partial \lambda} = B(\lambda)u , \ t > 0 , \ 0 \le \lambda \le L$$
(34)

where u is a m-dimensional vector and $A(\lambda)$, $B(\lambda)$ are $m \times m$ matrices. Also A is supposed diagonal, having distinct diagonal elements, of which k are strictly positive (corresponding to the forward waves) and m - k are strictly negative (corresponding to the backward waves). If $B(\lambda)$ could be also diagonal then propagation would be distortionless, otherwise it is not.

The structure described by (34) arises from a more general problem. Consider a system which is symmetric in the sense of Friedrichs which looks like (34) but with $A(\lambda)$ only symmetric (but with distinct non-zero eigenvalues). Usually a nonsingular change of function is considered to diagonalize this matrix. More specific, if we consider the system

$$\frac{\partial v}{\partial t} + C(\lambda)\frac{\partial v}{\partial \lambda} + D(\lambda)v = 0, \qquad (35)$$

let $T(\lambda)$ be a nonsingular matrix such that $T^{-1}(\lambda)C(\lambda)T(\lambda)$ is diagonal. We take $u(\lambda, t) = T(\lambda)v(\lambda, t)$ to find

$$T(\lambda)\frac{\partial u}{\partial t} + C(\lambda)\left(T'(\lambda)u + T(\lambda)\frac{\partial u}{\partial \lambda}\right) + D(\lambda)T(\lambda)u = 0$$
(36)

from where the form (34) is obtained with $A(\lambda) = T^{-1}(\lambda)C(\lambda)T(\lambda)$ diagonal and

$$B(\lambda) = T^{-1}(\lambda)(C(\lambda)T'(\lambda) + D(\lambda)T(\lambda))$$

It appears that distortionless could be achieved in very special cases where $B(\lambda)$ defined above would result also diagonal.

There exist however situations when this diagonal structure is inherent to the basic equations. This, for instance, the case of the circulating fuel nuclear reactor: we deal here with a model of [11]–[13]

$$\begin{cases} \frac{d}{dt}n(t) = \rho n(t) + \sum_{i=1}^{m} \beta_i(\bar{c}_i(t) - n(t)), \\ \bar{c}_i(t) = \int_0^h \phi(\eta)c_i(\eta, t)d\eta, \quad i = \overline{1, m} \\ \frac{\partial c_i}{\partial t} + \frac{\partial c_i}{\partial \eta} + \sigma_i c_i = \sigma_i \phi(\eta)n(t), \\ c_i(0, t) = c_i(h, t), \quad i = \overline{1, m}, \quad t \ge t_0 \\ c_i(\eta, t_0) = q_i^0(\eta), \quad n(t_0) = n_0, \quad 0 \le \eta \le h. \end{cases}$$
(37)

This model contains the delayed neutron equations accounting for the hydrodynamic equations of the circulating fuel. We gave here also the boundary conditions which are of periodic type. The PDE (partial differential equations) are completely decoupled, the coupling taking place at the level of the differential equation which is controlled by the average values taken from the PDE's but is itself controlling the PDE's in a distributed way. Also all eigenvalues of $A(\lambda) = I$ are equal and positive hence there exist m forward waves. Integration along the characteristics and computation of the integral of (37) - which is quite involved - gives the following system of functional differential equations

$$\begin{cases} \frac{dn}{dt} = (\rho - \sum_{i=1}^{m} \beta_{i})n(t) + \\ + \sum_{i=1}^{m} \beta_{i}\sigma_{i} \int_{-h}^{0} e^{\lambda\sigma_{i}} \left(\int_{-\lambda}^{h} \phi(\lambda)\phi(\eta + \lambda)d\eta \right) n(t + \lambda)d\lambda \\ + \sum_{i=1}^{m} \beta_{i} \int_{-h}^{0} e^{\eta\sigma_{i}}\phi(-\eta)q_{i}(t + \eta)d\eta \\ q_{i}(t + h) = e^{-h\sigma_{i}} \left[q_{i}(t) + \sigma_{i} \int_{0}^{h} e^{\lambda\sigma_{i}}\phi(\lambda)n(t + \lambda)d\lambda \right]. \end{cases}$$
(38)

with a corresponding system of initial conditions. Observe that the equations for q_i contain a lumped time delay accounting for distortionless propagation while the variable n displays a distributed delay due to the way it enters the PDE's. The difference equations for $q_i(t)$ show a system of FDE (functional differential equations) of neutral type. Moreover, if the representation formula is used

$$c_{i}(\eta, t) = e^{(h-\eta)\sigma_{i}}[q_{i}(t+h-\eta) - \sigma_{i}\int_{-h+\eta}^{0} e^{\theta\sigma_{i}}\varphi(\theta)n(t+h+\theta-\eta)d\theta]$$
(39)

it may be observed that the propagation is distortionless according to the definition given in the previous section.

IV. TWO CONTROL PROBLEMS

We have selected here two stabilization problems for engineering systems containing elastic rods. What makes the difference is that in the first case lossless propagation is present while in the second the nonhomogeneous material properties account for propagation with distortions.

A. The controlled flexible arm of unitary mass and length, with the control at the boundary $\lambda = 0$ is described by [14]

$$\frac{\partial^2 y}{\partial t^2} - \frac{\partial^2 y}{\partial \lambda^2} = 0 , \ 0 \le \lambda \le 1 , \ t \ge 0$$

$$\frac{\partial y}{\partial \lambda}(0,t) = \tau(t) , \ \frac{\partial y}{\partial \lambda}(1,t) = 0$$
(40)

where $y(\lambda, t)$ is the torsion angle and $\tau(t)$ is the boundary control, supposed to have the form

$$\tau(t) = -k_p \left[y(0,t) - \int_0^1 k(\lambda) \frac{\partial y}{\partial \lambda}(\lambda,t) d\lambda \right] - k_v \left[\frac{\partial y}{\partial \lambda}(0,t) - \int_0^1 k(\lambda) \frac{\partial^2 y}{\partial \lambda \partial t}(\lambda,t) d\lambda \right]$$
(41)

At the same time the model for stabilizing the vibrations of a torsion beam by boundary control [15] uses the same equations, the same control law (41) (regardless an integration by parts) but applied at the boundary $\lambda = 1$

$$\frac{\partial^2 y}{\partial t^2} - \frac{\partial^2 y}{\partial \lambda^2} = 0 , \ 0 \le \lambda \le 1 , \ t \ge 0$$

$$\frac{\partial y}{\partial \lambda}(0,t) = 0 , \ \frac{\partial y}{\partial \lambda}(1,t) = \tau(t)$$
(42)

We shall discuss these two models - in fact a single one - as follows. Introduce first the new functions

$$v(\lambda, t) = \frac{\partial y}{\partial t}(\lambda, t) , \ w(\lambda, t) = \frac{\partial y}{\partial \lambda}(\lambda, t)$$
 (43)

to obtain the standard equations

$$\frac{\partial v}{\partial t} = \frac{\partial w}{\partial \lambda} , \quad \frac{\partial w}{\partial t} = \frac{\partial v}{\partial \lambda}$$

$$w(0,t) = \tau(t) , \quad w(1,t) = 0$$
(44)

and, after an integration by parts

$$\tau(t) = -k_p \left[y(1,t) - \int_0^1 (1+k(\lambda)w(\lambda,t)d\lambda] - k_v \left[(1+k(0))v(0,t) - k(1)v(1,t) \right] - (45) \right] - k_v \int_0^1 (k(\lambda) + k'(\lambda))v(\lambda,t)d\lambda$$

We may now introduce the forward and backward waves

$$u^{\pm}(\lambda, t) = v(\lambda, t) \mp w(\lambda, t)$$

$$v(\lambda, t) = \frac{1}{2}[(u^{-}(\lambda, t) + u^{+}(\lambda, t)]$$

$$w(\lambda, t) = \frac{1}{2}[(u^{-}(\lambda, t) - u^{+}(\lambda, t)]$$

(46)

to obtain the equations of the lossless propagation

$$\frac{\partial u^{+}}{\partial t} = -\frac{\partial u^{+}}{\partial \lambda} , \quad \frac{\partial u^{-}}{\partial t} = \frac{\partial u^{-}}{\partial \lambda}$$

$$u^{-}(0,t) - u^{+}(0,t) = 2\tau(t) , \quad u^{-}(1,t) - u^{+}(t) = 0$$
(47)

and the control re-written

$$\tau(t) = -k_p \left[y(1,t) - \frac{1}{2} \int_0^1 (1+k(\lambda)(u^-(\lambda,t) - u^+(\lambda,t))) d\lambda \right] - u^+(\lambda,t)) d\lambda \right] - \frac{1}{2} k_v (1+k(0))(u^-(0,t) + u^+(0,t)) + \frac{1}{2} k_v k(1)(u^-(1,t) + u^+(1,t)) - \frac{1}{2} k_v \int_0^1 (k(\lambda) + k'(\lambda))(u^-(\lambda,t) + u^+(\lambda,t)) d\lambda$$
(48)

We left aside till now the term y(1,t) - the angle at the control boundary - it might be considered as some dynamical

set point and, due to linearity, we take it identically 0 from now on. We continue by integrating along the characteristics; adapting (7) and (8) we find

$$u^{+}(0,t) = u^{+}(1,t+1)$$
, $u^{-}(1,t) = u^{-}(0,t+1)$ (49)

and may define

$$\eta^{+}(t) = u^{+}(1,t) , \ \eta^{-}(t) = u^{-}(0,t)$$

$$u^{+}(\lambda,t) = \eta^{+}(t+1-\lambda) , \ u^{-}(\lambda,t) = \eta^{-}(t-\lambda)$$
 (50)

This allows association of the functional equations - deduced by substituting (49), (50) in the boundary conditions of (47)

$$\begin{aligned} \eta^{-}(t) &- \eta^{+}(t+1) = 2\tau(t) , \ \eta^{+}(t) = \eta^{-}(t+1) \\ 2\tau(t) &= k_{p} \int_{0}^{1} (1+k(\lambda)(\eta^{-}(t-\lambda) - \eta^{+}(t+1-\lambda))) d\lambda - \\ &- k_{v}(1+k(0))(\eta^{-}(t) - \eta^{+}(t+1)) + \\ &+ k_{v}k(1)(\eta^{-}(t+1) + \eta^{+}(t)) - \\ &- k_{v} \int_{0}^{1} (k(\lambda) + k'(\lambda))(\eta^{-}(t-\lambda) + \eta^{+}(t+1-\lambda)) d\lambda \end{aligned}$$

Introducing the translated functions $\varsigma^{\pm}(t)=\eta^{\pm}(t+1)$ we shall obtain

$$\begin{split} \varsigma^{+}(t) &-\varsigma^{-}(t-1) = -2\tau(t) , \ \varsigma^{-}(t) = \varsigma^{+}(t-1) \\ 2\tau(t) &= k_p \int_0^1 (1+k(\lambda)(\varsigma^{-}(t-1-\lambda)-\varsigma^{+}(t-\lambda)) d\lambda - \\ &-k_v(1+k(0))(\varsigma^{-}(t-1)-\varsigma^{+}(t)) + \\ &+k_v k(1)(\varsigma^{-}(t)+\varsigma^{+}(t-1)) - \\ &-k_v \int_0^1 (k(\lambda)+k'(\lambda))(\varsigma^{-}(t-1-\lambda)+\varsigma^{+}(t-\lambda)) d\lambda \end{split}$$

We may further eliminate $\varsigma^{-}(t)$ to obtain finally the following integro-functional equation

$$\varsigma^{+}(t) + \alpha_{1}\varsigma^{+}(t-1) + \alpha_{2}\varsigma^{+}(t-2) =$$

$$= \int_{-1}^{0} [\beta_{0}(\lambda)\varsigma^{+}(t+\lambda) + \beta_{1}(\lambda)\varsigma^{+}(t-2+\lambda)] d\lambda$$
(51)

This is a quite standard linear difference equation. Its stability may be studied *via* the characteristic equation

$$1 + \alpha_1 e^{-s} + \alpha_2 e^{-2s} = \int_{-1}^0 [\beta_0(\lambda) + e^{-2s} \beta_1(\lambda)] e^{\lambda s} d\lambda$$
 (52)

or by associating to (51) a Liapunov functional suggested by the energy integral of (44)-(45).

B. The control model of an overhead crane with a flexible cable is given by [16]

$$y_{tt} - (a(s)y_s)_s = 0 , t > 0 , 0 < s < L$$

$$y_{tt}(0,t) = gy_s(0,t) , y(L,t) = X_p(t)$$

$$\ddot{X}_p = K(a(s)y(s,t))(L,t) + u(t)$$

$$a(s) = g(s + (m/\rho)) , K = \frac{m + \rho L}{ma(L)} = \frac{\rho}{Mg}$$
(53)

in fact the starting model of (op.cit.) contained the boundary condition $y_s(0,t) = 0$, explained by the physical assumption that the acceleration of the load mass is negligible with respect to the gravitational acceleration g i.e. $y_{tt}(0,t)/g \approx 0$; in fact this is not rigorous and definitely cannot be ascertained for all t; the only valid argument is connected to singular perturbations. For this reason we shall deal with the complete model (53).

If the rated cable length variable $\sigma = s/L$ is introduced, then, with a slight abuse of notation, the following model containing possible small parameters is obtained

$$\frac{L}{g} \cdot \frac{\rho L}{m} y_{tt} - \left(\left(1 + \frac{\rho L}{m} \sigma \right) y_{\sigma} \right) = 0 , \ 0 \le \sigma \le 1 , \ t > 0$$

$$\frac{L}{g} y_{tt}(0,t) = y_{\sigma}(0,t) , \ y(1,t) = X_{p}(t)$$

$$\frac{L}{g} \ddot{X}_{p} = \frac{m}{M} \left(1 + \frac{\rho L}{M} \right) y_{\sigma}(1,t) + \frac{L}{g} u(t)$$
(54)

A preliminary comment is useful: supposing we would like to neglect non-uniformity of the cable parameters, this would require the assumption that the cable mass is negligible with respect to the carried mass i.e. $\rho L/m \approx 0$. However, this will destroy the entire distributed dynamics since (54) would become

$$y_{\sigma\sigma} = 0 \ ; \ \frac{L}{g} y_{tt}(0,t) = y_{\sigma}(0,t) \ , \ y(1,t) = X_p$$

$$\frac{L}{g} \ddot{X}_p = \frac{m}{M} y_{\sigma}(1,t) + \frac{L}{g} u(t)$$
(55)

We shall then have $y(\sigma,t) = \phi_1(t)\sigma + \phi_0(t)$ which is substituted in the boundary conditions. Therefore

$$\frac{L}{g}\ddot{\phi}_{0} + \phi_{0} = X_{p} ; \ \phi_{1} = X_{p} - \phi_{0}$$

$$\frac{L}{g}\ddot{X}_{p} = \frac{m}{M}(X_{p} - \phi_{0}) + \frac{L}{g}u(t)$$
(56)

Its uncontrolled dynamics is given by the roots of the characteristic equation

$$\frac{L}{g}s^2\left(\frac{L}{g}s^2 + 1 - \frac{m}{M}\right) = 0 \tag{57}$$

i.e. by two purely imaginary modes and a double zero mode; this is but well known. Instead of this approach, we start by introducing new functions and by making some other notations

$$v(\sigma, t) := y_t(\sigma, t) , \ w(\sigma, t) := (1 + \gamma_0 \sigma) y_\sigma(\sigma, t)$$

$$\gamma_0 = \frac{\rho L}{m} , \ T^2 = \frac{L}{g} , \ \delta_0 = \frac{m}{M}$$
(58)

thus obtaining

$$\gamma_0 T^2 v_t = w_\sigma , \ w_t = (1 + \gamma_0 \sigma) v_\sigma$$

$$T^2 v_t(0, t) = w(0, t) , \ v(1, t) = \dot{X}_p$$
(59)

$$T^2 \ddot{X}_p = \delta_0 w(1, t) + T^2 u(t)$$

Define further the forward and backward waves as below

$$v(\sigma, t) = u^{+}(\sigma, t) + u^{-}(\sigma, t)$$

$$w(\sigma, t) = T\sqrt{\gamma_{0}(1 + \gamma_{0}\sigma)}(u^{-}(\sigma, t) - u^{+}(\sigma, t))$$

$$u^{+}(\sigma, t) = \frac{1}{2}\left(v(\sigma, t) - \frac{1}{T\sqrt{\gamma_{0}(1 + \gamma_{0}\sigma)}}w(\sigma, t)\right)$$

$$u^{-}(\sigma, t) = \frac{1}{2}\left(v(\sigma, t) + \frac{1}{T\sqrt{\gamma_{0}(1 + \gamma_{0}\sigma)}}w(\sigma, t)\right)$$
(60)

The following equations are then obtained

$$\frac{\partial u^{+}}{\partial t} + \frac{1}{T\sqrt{\gamma_{0}}}\sqrt{(1+\gamma_{0}\sigma)}\frac{\partial u^{+}}{\partial t} = \\
= \frac{1}{T\sqrt{\gamma_{0}}} \cdot \frac{\gamma_{0}}{\sqrt{(1+\gamma_{0}\sigma)}}(u^{-}-u^{+}) \\
\frac{\partial u^{-}}{\partial t} - \frac{1}{T\sqrt{\gamma_{0}}}\sqrt{(1+\gamma_{0}\sigma)}\frac{\partial u^{-}}{\partial t} = \\
= \frac{1}{T\sqrt{\gamma_{0}}} \cdot \frac{\gamma_{0}}{\sqrt{(1+\gamma_{0}\sigma)}}(u^{-}-u^{+}) \\
T(u_{t}^{-}+u_{t}^{+})(0,t) = \sqrt{\gamma_{0}}(u^{-}(0,t)-u^{+}(0,t)) \\
u^{-}(1,t) + u^{+}(1,t) = \dot{X}_{p} \\
T\ddot{X}_{p} = \delta_{0}\sqrt{\gamma_{0}(1+\gamma_{0})}(u^{-}(1,t)-u^{+}(1,t)) + Tu(t)$$
(61)

It is clear that *under no conditions can be made this system distortionless*. We may however try to replace this system by an approximation which would be such. To find such an approximation, we turn back to the basic equation

$$y_{tt} - (a(s)y_s)_s = 0$$

where $a(\cdot)$ is a sufficiently smooth function. With the new variables

$$v(s,t) = y_t(s,t) , w(s,t) = a(s)y_s(s,t)$$

the first order equations of the propagation are obtained

$$v_t = w_s$$
, $w_t = a(s)v_s$

The forward and backward waves are defined by

$$\begin{split} v(s,t) &= u^-(s,t) + u^+(s,t) \\ w(s,t) &= \sqrt{a(s)}(u^-(s,t) - u^+(s,t)) \end{split}$$

and satisfy

$$u_t^+ + \sqrt{a(s)}u_s^+ = \frac{a'(s)}{4\sqrt{a(s)}}(u^- - u^+)$$

$$u_t^- - \sqrt{a(s)}u_s^- = \frac{a'(s)}{4\sqrt{a(s)}}(u^- - u^+)$$
(62)

Obviously the distortionless condition is a'(s) = 0 a.e. Since in our case $a(s) = g(s+m/\rho)$, $a'(s) = g \neq 0$. The piecewise constant approximation is thus the only suitable. This means approximation of a(s) piecewise constantly in order that e.g. the propagation time should remain constant

$$\int_{0}^{L} \frac{\mathrm{d}\lambda}{\sqrt{a(\lambda)}} = \sum_{1}^{N} \frac{l_{i}}{\sqrt{a_{i}}} , \ \sum_{1}^{N} l_{i} = L$$
(63)

We shall not discuss here specific approximation problems such as concatenation conditions and convergence but just take N = 1 and write down the associated system. In this simplest case we find

$$T\sqrt{\gamma_0} \int_0^1 \frac{\mathrm{d}\sigma}{\sqrt{1+\gamma_0\sigma}} = T\sqrt{\gamma_0} \frac{1}{\sqrt{1+\gamma_1}} \tag{64}$$

If $T_d = T\sqrt{\gamma_0/(1+\gamma_1)}$ - the propagation time - is introduced and the cyclic variable X_p is eliminated, we obtain a genuine system of neutral type

$$T_{d}\frac{\mathrm{d}}{\mathrm{d}t}(y^{+}(t) + y^{-}(t - T_{d})) = -\gamma_{0}(y^{+}(t) - y^{-}(t - T_{d}))$$
$$T_{d}\frac{\mathrm{d}}{\mathrm{d}t}(y^{-}(t) + y^{+}(t - T_{d})) = \gamma_{0}\delta_{0}(y^{-}(t) - y^{+}(t - T_{d})) + +T_{d}u(t)$$

$$\dot{X}_p = y^-(t) + y^+(t - T_d)$$

where we denoted

$$y^{+}(t) = u^{+}(0,t) , y^{-}(t) = u^{-}(1,t) ,$$

$$v(\sigma,t) = u^{-}(\sigma,t) + u^{+}(\sigma,t) ,$$

$$w(\sigma,t) = T\sqrt{\gamma_{0}(1+\gamma_{1})}(u^{-}(\sigma,t) + u^{+}(\sigma,t))$$

For $u(t) \equiv 0$ the inherent stability of (65) has been studied [17]. Its characteristic equation

$$(T_d s + \gamma_0)(T_d s - \gamma_0 \delta_0) - (T_d s - \gamma_0)(T_d s + \gamma_0 \delta_0) e^{-2sT_d} = 0$$
(66)

and obviously has a zero root; if we take into account that the output \dot{X}_p is a cyclic variable, we rediscover a fact known

from the lumped parameter case - see (57) - a double zero root of the controlled configuration with u(t) as input and X_p as measurable control output. Since (57) has also a pair of of purely imaginary roots, we may check for purely imaginary roots of (66) and find them to be of the form $\pm i x_k/Td$ where x_k are the positive roots of

$$\tan x = \frac{\gamma_0 (1 - \delta_0) x}{\gamma_0 \delta_0 + x^2}$$
(67)

The equation is well studied [18]: it has real roots of the form $k\pi + \delta_k$ where $\{\delta_k\}_k$ is a positive bounded sequence approaching 0 for $k \to \infty$.

We have thus discovered an infinity of purely imaginary roots; this infinity of oscillating modes is well known in the theory of the elastic rods; mathematically, its presence can be explained by the fact that the difference operator of (65) has its roots on $i\mathbb{R}$ - the imaginary axis. Other details may be found in [17].

V. DYNAMICS AND CONTROL FOR SYSTEMS OF CONSERVATION LAWS

It is well known that the first applications in the field of control for systems with distributed parameters dealt with mainly with specific problems (e.g. pressure control in steam pipes, water hammer in hydraulics, as already mentioned in previous sections); however a more contemporary trend consists in applying control theory to general structures that may be considered as benchmark problems. Due to their broad applications, the systems of conservation laws which describe various physical phenomena with a single space parameter distribution are very suitable for such applications [19]. The systems of conservation laws are interesting also for their nonlinear character; when linearized they reduce to the quite well propagation equations - see [20] or the previous sections - and, therefore, a comparison to some known results is also available.

We shall consider in this section a system of two conservation laws on \mathbb{R}^2 (one space variable) which reads

$$Y_t + f(Y)_x = 0 \tag{68}$$

where $Y : [0, \infty) \times [0, L] \mapsto \Omega \subseteq \mathbb{R}^2$ is the vector of the two dependent variables and $f : \Omega \subseteq \mathbb{R}^2 \mapsto \mathbb{R}^2$ is the *flux density*. Unlike the mostly studied cases [19], the solution is defined by the initial conditions

$$Y(x,0) = Y_0(x) , \ 0 \le x \le L$$
(69)

and by some boundary conditions of Dirichlet type while they may nevertheless contain some control input variables

$$g_0(Y(0,t), u_0(t)) = 0 , \ g_L(Y(L,t), u_L(t)) = 0 , \ t > 0$$
(70)

The standard problem we are approaching reads as follows

For constant control actions $u_i(t) \equiv \overline{u}_i$, i = 0, L, a steady state solution is a constant solution \overline{Y} satisfying (68) and (70).

(65)